Math 2 - Honors
Unit 6 ~Triangles & Congruence
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» Name the congruent triangles.
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» _For each pair of triangle, tell which congruence rule, if any, make the triangles cong
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4 . .
for each pair of triangles, (a) State the congruence rule that makes them congruent (b) Write the triangle

congruency statement. If the triangles are not congruent, leave the statement blank.
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» Using the given congruence rule, tell which parts of the pair of triangles should be shown congruent.
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» For each problem below, write a two-column proof .
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